B SRR i P s D ZE B GRTIF S RER)

3

HEZER | BEYD BEYD HNEO BEYD | BEYD
1 HI(EER) | ENEARED | BFERED REREH#H SHEE |5 S0 |(F &
= 5 | HtEAC | BtEmEc | OR E| OXBERE (R OE
NERE RS ERCE ) LR (%)
5 —1EKE #938ha 8/10LLR | 5/10LLR — — 10m 11.1%
FEREAME | (#38ha) (11.4 %)
/N it Oha
B _EKE Oha — — — — — 0.0 %
FEE A (Oha) (0.0 %)
/N it Oha
E—EHhaE #972ha 20/10LLF | 6/10LLF — — — 20.8 %
FEREAME | (#72ha) (21.3 %)
/N it Oha
E_EhaE Oha — — — — — 0.0 %
FEERAME (Oha) (0.0 %)
N it Oha
% - | #9108ha 20/10LLF | 6/10AF — — — 314 %
F B # | (#107ha) (32.0 %)
N B #91.0ha
= - i #14ha 20/10LLF | 6/10AF — — — 4.0%
F B #1 | (%10ha) (3.0 %)
N 5 #94.0ha
2 F #93.6ha 20/10LAF | 6/10LAF — — — 1.0 %
(0.0ha) (0.0 %)
N | #3.6ha
T [ 7 2 Hh 5 #93.7ha 20/10LLF | 8/10BAF — — — 1.1%
(#93.7ha) (1.1%)
N Hi Oha
B O¥E 4 #96.5ha 40/10LLF | 8/10LUF — — — 1.9%
(#96.5ha) (1.9%)
N L Oha
T ZE Hh oI5 #96.8ha 20/10L4F | 6/10LLF — — — 20%
(#96.8ha) (2.0 %)
N =t Oha
T ¥ # i #350ha 20/10LLR | 6/10LLF — — — 14.7 %
(#550ha) (15.0 %)
N Hi Oha
TEFE A #41ha 20/10L4F | 6/10LLF — — — 12.0%
(#541ha) (12.3 %)
7N Bl Oha
#344ha — — — — — 100.0 %
a &t | (#9335ha) (100.0 %)

#39.0ha




BT A A A A DR z 3

OREER | BEDO (BEYO (NEBO|BEYO | BEHO

& B (EEH) | ENEEO | BEEED | %EEH S HEE | & S0 | %
= OB | HhEEC | HhEEC | OB El ORERE B OE

HTBEE | HTBEE

% — | #108.1ha | 20/10LF | 6/10LF — — —

£ B # 8| (%107.2ha)

I\ B #90.9ha

% = B | #13%a | 20/10LF | 6/10LTF — — —

£ FE # B | (#%100ha)

I\ 5t | #93.9ha

B i | #36ha | 20/10LF | 6/10LLF — — —
(0.0ha)

I\ 5t | #93.6ha

£ 8| | #84ha — — _ _ _




